Multiple choice test 6 World Population and Economics

1. Compare world population and population growth rate

A) Population is rising, growth is rising

B) Population is rising, growth rate is falling 

C) Growth is rising, population is falling

D) None of the above

2. What is the sudden rise in population called occurring between 1946 and 1964?

A) Population spike 

B) Baby boom 

C) Fertility surge

D) Per capita swing

3. Where are most people in the world? 

A) Africa

B) Europe

C) The Americas

D) Asia 

4. Which area of the world is growing the fastest? 

A) Europe

B) Asia

C) South America

D) Africa 

 5. Which area is growing the least? 

A) North America

B) Europe

C) Asia

D) Africa 

6. Compare the number of children in India and China

A) India has more children than China

B) China has more children than India

C) They are about the same

D) They are both declining

7. By 2050, China will be

A) Larger than India

B) Much smaller than India

C) About the same size as India

D) Much larger than India

8. What is changing between the number of young and old people in the world? 

A) More older people, less younger people

B) More younger people, less older people

C) They will be equal

D) None of the above

9. What is the trend for world-wide birth-rates? 

A) Increasing

B) Decreasing

C) Staying the same

D) Too erratic to tell

10. Which continent (except Antarctica) is the least densely populated? 

A) North America

B) Europe

C) South America

D) Australia 

11. What was happening to the world refugee situation from 1960 to 2000?  

A) Rising

B) Falling 

C) No change

D) Declining

12. Where are urban populations rising the fastest? 

A) Developed Countries

B) Industrialized countries

C) “First World”

D) Underdeveloped countries 

13. Which country has one of the greatest concentrations of urban populations?

A) India

B) China 

C) Both A and B

D) None of the above

14. Where is the highest concentration of illiteracy in the world? 

A) Africa

B) Asia

C) Europe

D) Latin America

15. Where is the highest concentration of illiteracy in Asia? 

A) Vietnam

B) Cambodia 

C) Thailand

D) India

16. Why is there such a large difference between male and female illiteracy in South 

Asia? 

A) Women decline to go to school

B) Men are favored over women 

C) Both A and B

D) None of the above

17. Why do you think there is such high illiteracy in Benin and Senegal? 

A) Farming is the main profession

B) Lack of schools 

C) No interest

D) All of the above

18. Why doesn’t the regional average reflect illiteracy rates in Central and South 

America? 

A) Some countries are very high while others are very low 

B) Central and South America are very different cultures

C) Both A and B

     D)   None of the above

19. Which areas of the world do NOT have high female to male illiteracy?

A) Africa

B) Arab nations

C) South Asian nations 

D) None of the above

20. What is the trend for population growth in undeveloped countries?

A) Increasing

B) Decreasing

C) Averaging

D) None of the above

21. Compare the population of India to the USA from 1950 to 1970.

A) India and the USA were growing quickly

B) India grew slow and the USA grew fast

C) India and the USA grew slow

D) India grew fast, the USA grew slow

22. What happened to “non-white” life expectancy form 1940 to 1960? 

A) It decreased

B) It stayed the same

C) It increased rapidly 

D) It increased slowly

23. What can be said about white to non-white infant mortality in the US? 

A) Non-white has always been higher 

B) None-white has always been lower

C) Non-white has been the same

D) None of the above

24. What is the relationship between infant mortality and GDP? 

A) High GDP and Low Infant Mortality 

B) Low GDP and High Infant Mortality 

C) Both A and B

D) None of the above

25. Where is the highest overall infant mortality in the world? 

A) Asia

B) South America

C) Central America

D) Africa 

26. What was the purpose of the Bretton Woods conference?

A) Establish an international system for financial control

B) Establish an international system for monetary  control

C) Both A and B

D) None of the above

27. What does the World Bank provide?

A) Financial and technical assistance to third world countries

B) Development programs to all non-aligned countries

C) Both A and B

D) None of the above

28. What was the purpose of GATT?

A) Provide monetary assistance

B) Negotiate trade agreements

C) Provide credit

D) Establish free trade

29. Why did people migrate from southern Europe to Germany?

A) “Economic miracle”

B) Employment

C) Both A and B

D) None of the above

30. What kind of employment was allowed under the Bracero Program?

A) Permanent

B) Temporary

C) Green card

D) All of the above

31. What has happened to the number of women in the workplace from 1950-1998?
A) Stayed the same

B) Small increases

C) Doubled 

D) Decreased

32. Compare working men to women in 1950.  

A) More than Double

B) About the same

C) Half

D) There were no women in the workplace

33. What has happened to the age of the US labor force from 1950 to 2000?

A) Grown younger 

B) Grown older 

C) Older men, younger women

D) No change

34. What kinds of countries are located in North America, Europe, including Australia, 

and Japan?

A) Industrialized

B) First World

C) Both A and B

D) None of the above

35. Which is the newly industrialized country in Latin America? 

A) Brazil

B) Panama

C) Argentina

D) Mexico 

36. What are most countries in Latin America, Africa, Middle East and Asia called?

A) Industrialized

B) First World

C) Backward

D) Third World

37. What is disposable income?

A) Money beyond basic needs 

B) Necessary income

C) Lost income

D) None of the above

38. What is conspicuous consumption? 

A) Too much spending

B) Spending on credit

C) Spending to display wealth 

D) None of the above
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